



Invoice No. 21219-DEPARTURE

INVOICE

Customer

Name: JEGE, INC
 Address: 3800 SOUTHERN BLVD. SUITE 204
 City: WEST PALM BEACH FL 33406
 Phone: (561) 317-3082

Date: 3/2/2012
 No. [Redacted]
 Rep: Larry Morrison
 W. O. No.: 21219

Qty.	Item	Description	Unit Price	TOTAL
		<u>N908JE</u>		
50%	SUM	DEPARTURE BILLING FAS REF NUMBER 1131802	\$263,778.00	\$131,889.00
1168.3	MNRS	NON-ROUTINES	\$49.00	\$57,246.70
3%	SUM	EXPENDABLES	\$321,024.70	\$9,630.74
1	SUM	MATERIALS	\$69,268.71	\$69,268.71
15%	SUM	MATERIAL HANDLING CHARGE	\$69,268.71	\$10,390.31
1	SUM	OUTSIDE SERVICES	\$10,001.78	\$10,001.78
15%	SUM	OUTSIDE SERVICES HANDLING MINUS CAP	\$1,748.61	\$262.29
1	SUM	O/S HANDLING OVER CAP	\$750.00	\$750.00
1	SUM	FREIGHT	\$5,466.24	\$5,466.24

PLEASE NOTE CHANGE

WIRE TRANSFER INFORMATION

SUN TRUST BANK
 JACKSONVILLE, FL
 ABA: #061000104
 ACCOUNT: #1000014128952
 CREDIT: FLIGHTSTAR AIRCRAFT SERVICES, INC

Payment Details

Cash
 Check
 PER CONTRACT

Subtotal	\$294,905.77
TOTAL	\$294,905.77

THANK YOU

JOB CARD	GENERATING ITEM	DESCRIPTION	ACTUAL MHRS	MHR CAP	BILLABLE MHRS
NR25306	24664801	CORROSION ON RT WING FWD SPAR VERTICAL STIFFENER JUST OUTBD OF WING TANK ACCESS PANEL @ APPROX WS 200	55.0	25.0	30.0
NR25330	20081109	L-2 WINDOW LWR FWD & AFT CORNERS ARE CLOUDY WITH MOSITURE BETWEEN INNER & OUTER PANES	1.0	0.0	1.0
NR25331	20081109	L-2 WINDOW NOSIE DURING PREBAY PRESS CHECKS	4.0	0.0	4.0
NR25332	20081109	L-4 EYEBROW WINDOW HAS VINYL LAYER CRACKS & WINDOW HAS DISCOLORATION	4.0	0.0	4.0
NR25333	20081109	L-5 EYEBROW WINDOW IS DELAM VINYL CRACKING & DISCOLORED	16.0	0.0	16.0
NR25334	20081109	R-2 WINDOW HAS INNER & OUTER PANE SEPERATION WITH MOSITURE @ FWD LWR & AFT LWR CORNERS	4.0	0.0	4.0
NR25335	20081109	R-4 EYEBROW WINDOW HAS INTERVINYL LAYER CRACKING & DISCOLORATION	15.0	0.0	15.0
NR25359	13453901	REMOVE #3 ENGINE FOR REPAIR & REINSTALL WHEN COMPLETE	100.0	25.0	75.0
NR25360	C/R	REPLACE BOTH WINDSHIELD WIPER BLADES	1.3	0.0	1.3
NR25361	C/R	REPLACE BOTH NLG TIRES PER CR	14.0	0.0	14.0
NR25362	C/R	#1 THROTTLE BINDS IN THE RETARD POSITION	7.0	0.0	7.0
NR25364	C/R	#1 "B" PUMP PRESSURE HIGH (GROWLING NOISE BOARD)	7.5	0.0	7.5
NR25367	C/R	REPACK L/H & R/H MLG WHEEL BEARINGS PER CR	32.0	0.0	32.0
NR25382	14453801	LITE CORROSION ON #3 ENGINE FUEL CONTROL YOKE FITTING ON PYLON	200.0	0.0	200.0
NR25384	14453801	LITE SURFACE CORROSION ON INTERNAL STRUCTURE OF #3 PYLON I/B OF FWD MOUNT YOKE	100.0	0.0	100.0
NR25426	20080802	JACK AIRPLACE AS REQD FOR FOM	0.0	0.0	0.0
NR25479	200505192R	AREA OF CORROSION ON RT. WING AFT. SPAR LWER SURFACE OF WING FWD OF RT. ██████ @ APPROX. W.B.L. 92.	3.0	0.0	3.0
NR25480	200505192R	AREASOF CORROSION ON RT. WING AFT. SPAR UPPER SURFACE OF WING FWD. OF ██████ AILERON @ APPROX W.S. 380.	2.0	0.0	2.0
NR25481	200505192R	SEVERAL AREAS OF CORROSION ON RT. WING FWD SPAR UPPER SURFACE OF WING AFT. OF #7 LEADING EDGE SLAT.	4.0	0.0	4.0
NR25482	200505192R	AREAS OF CORROSION ON RT. WING FWD.SPAPR UPPER SURFACE OF WING AFT. OF #6 LEADING EDGE SLAT.	20.0	0.0	20.0
NR25483	200505192R	AREAS OF CORROSION ON RT. WING FWD. SPAR UPPER SURFACE OF WING AFT OF #5 LEADING EDGE SLAT.	35.0	0.0	35.0
NR25485	20080802	TEMP INSTALL LH & RH MLG SIDE STRUTS TO FACILITATE REPOSITIONING AIRCRAFT	47.0	0.0	47.0

JOB CARD	GENERATING ITEM	DESCRIPTION	ACTUAL MHRS	MHR CAP	BILLABLE MHRS
NR25486	C/R	LH WINDSHIELD WIPER IS INOP	11.0	0.0	11.0
NR25522	14392801	RIGHT HORIZONTAL STABILIZER-LOWER CHORD BETWEEN ELEVATOR STA 50.50 AND 66.50 ON AFT SPAR CORRODED	430.0	25.0	405.0
NR25539	14451801	PROTECTIVE COATING, TAPE ON OVERHEAT DETECTOR LOOP. #1 ENGINE 3 O'CLOCK POSITION - BETWEEN ENGINE & PYLON - AFT OF FWD MOUNT YOKE .	25.5	25.0	0.5
NR25569	20080802	COMPLY WITH SB 727-57-103 AS REQUIRED BY AD 2008-08-02 PARAGRAPH(G) AS SPECIFIED IN TABLE 1 (3)	20.0	0.0	20.0
NR25570	24688801	LEFT WING LOWER SKIN AT L/E FRONT SEAR STA 760 HAS SURFACE CORROSION	4.0	0.0	4.0
NR25571	25571	R/H WHEEL WELL KILL BEAM PANEL REMOVE [REDACTED]	2.5	0.0	2.5
NR25572	NR25561	R/H WING TAI DUCT, INBD OF #6 SLAT TELESCOPING DUCT, FOUND DAMAGED	4.0	0.0	4.0
NR25573	14453801	REMOVE 13TH STAGE MOD VALVE & ASSOCIATED DUETING FROM #2 PYLON TO [REDACTED]. REINSTALL UPON COMPLETION	24.0	0.0	24.0
NR25574	3453101	REMOVE #3 ENGINE O/B NOSE COWL BOLTS TO [REDACTED]	0.0	0.0	0.0
NR25575	3453101	REMOVE #3 ENGINE O/B T/R MOUNT BOLTS TO [REDACTED]	0.0	0.0	0.0
NR25576	25544	CORRODED RIVETS R/W L/E COVE PANEL	2.0	0.0	2.0
NR25577	24453801	#3 ENG FIXED COWL, T/R HYDRAULIC LINES CORRODED AT FITTINGS (2EA)	4.0	0.0	4.0
NR25578	15395401	REMOVED ELEVATOR INDICATOR FOM	6.0	0.0	6.0
NR25580	24664801	#5 K-FLAP SHOWS INDICATION OF IN TRANSIT WHEN FLAPS ARE UP	2.0	0.0	2.0
NR25581	14135801	#4 DEBOOSTER OUT OF GREEN BAND.	1.5	0.0	1.5
NR25582	1622102	SERVICE ALL LANDING GEAR STRUTS AFTER REMOVING AIRCRAFT FROM HANGAR	8.0	0.0	8.0
NR25583	20081109	R4 EYEBROW WINDOW HAS VOIDS IN THE SEAL (AERODYNAMIC SMOOTHER)	3.5	0.0	3.5
NR25584	14140101	APU FIRE LOOP TEST INOP	2.5	0.0	2.5
NR25585	25133131	LEFT HAND PRIMARY FLEX DUCT TORN ON THE LEFT HAND HEAT EXCHANGER (PRIMARY POSITION)	1.5	0.0	1.5
NR25586	24100301	ATC DISPLAY #2 INOP	5.0	0.0	5.0
NR25587	15453101	#3 ENG CSD GARLOCK SEAL IS LEAKING	9.0	0.0	9.0
NR25588	NR25577	#3 ENGINE T/R IN TRANSIT LIGHT ON WITH T/R STOWED AND LOCKED LIGHT OFF WITH T/R DEPLOYED	5.0	0.0	5.0
NR25589	15453101	WET SPLINE ON THE #3 ENGINE LEAKING OIL.	0.0	0.0	0.0

JEGE

N908JE NON-ROUTINE OVER AND ABOVE MAN HOURS

W/O 21219

JOB CARD	GENERATING ITEM	DESCRIPTION	ACTUAL MHRS	MHR CAP	BILLABLE MHRS
NR25590	14100801	EVALUATE BOTH A/C RAM AIR DOORS FOR X DIMENSION	2.0	0.0	2.0
NR25591	N/A	UPON SERVICING T/R RETURN ACCUMULATOR FOUND TO BE LEAKING SKYDROLL.	2.0	0.0	2.0
NR25592	14451801	#1 ENGINE FIRE SENSING LOOP ATTACH BRACKET MISSING	0.5	0.0	0.5
NR25593	15452101	#2 ENG GENERATOR FREQ. LOW.	1.5	0.0	1.5
NR25594	14221801	F/O NO GASPER AIR	0.5	0.0	0.5
NR25595	26100102	HYDRAULIC SYSTEM B PRESSURE INDICATOR READING LOW	12.0	0.0	12.0
NR25597	C/R	REMOVE AND REPLACE NON-SKID TAPE ON THE AFT AIRSTAIR STEPS	6.0	0.0	6.0
NR25598	24136801	RH MLG MANUAL EXTENSION CAM FWD PUSH ROD HAS TORN (2EA) STICKERS (C PLACARD)	1.0	0.0	1.0
TOTAL:			1268.3	100.0	1168.3

Approved By: _____

Date: _____

MATERIALS LIST

3/2/2012

<u>WONO</u>	<u>TASK</u>	<u>ITEM</u>	<u>DESCRIP</u>	<u>QTY</u>	<u>COST</u>	<u>EXT COST</u>
21219						
21219	03112401 (1)	AD-15575	CONNECTOR TERMINAL	1.00	75.00	75.00
21219	03112401 (1)	VP400KH	BATTERY	1.00	200.00	200.00
21219	03112401 (1)	019422-000	HARNESS ASSY, TEMP SENSOR	1.00	938.62	938.62
21219	03112401 (2)	AD-VP400KH	BATTERY	1.00	300.00	300.00
21219	03112402	1014A	POWERSUPPLY	1.00	200.00	200.00
21219	03140101	S8990-266	PACKING	1.00	17.36	17.36
21219	03200102(1)	100103-103	LIFE RAFT	1.00	3,825.87	3,825.87
21219	03200102(2)	100103-103	LIFE RAFT	1.00	3,825.87	3,825.87
21219	03200102(3)	100103-103	LIFE RAFT	1.00	3,825.87	3,825.87
21219	03200105(1)	MR-10046NS	PBE	1.00	865.20	865.20
21219	03200105(2)	MR-10046NS	PBE	1.00	865.20	865.20
21219	03200402	38931-002	>BATTERY	16.00	62.67	1,002.72
21219	03453101	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	03453101	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	03453101	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	03453101	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.56	13.56
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.56	13.56
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.56	13.56
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.56	13.56
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.45	13.45
21219	03453101	JBPTO2197	BP TURBO OIL 2197	1.00	13.56	13.56
21219	13115401	66-2616-2	GASKET	2.00	20.00	40.00
21219	14100101	MOUSE MILK	OIL, LUBRICATING	1.00	5.59	5.59
21219	14140101	MS29513-454	ORING	1.00	3.75	3.75
21219	14140101	7500291	FILTER, OIL-APU	1.00	7.72	7.72
21219	14140101	S9413-227	SEAL	1.00	1.09	1.09
21219	14452801	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	21.99	21.99
21219	14452801	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	21.99	21.99
21219	14454801	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	14454801	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	14454801	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	14454801	10468026-6OZ	DINITROL AV-30	1.00	9.05	9.05
21219	14455801	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	14664801	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	15221101	79030	CARTRIDGE	1.00	32.78	32.78
21219	15221402	MS21907D5	ELBOW	2.00	24.00	48.00
21219	15221402	MS21902D6	UNION	2.00	4.87	9.74
21219	15221402	NAS1762W0606	ELBOW	2.00	19.80	39.60
21219	15221403	NAS1611-240	O RING	1.00	1.08	1.08
21219	15221404	MS51523B4S	TEE	1.00	28.00	28.00
21219	15221404	BACT16BN060606P	TEE	1.00	58.00	58.00
21219	15221404	MS21906-6	TEE FITTING	1.00	171.00	171.00
21219	15224103	150G	FILTER	3.00	30.00	90.00
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95

21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	1543101	JBPTO2197	BP TURBO OIL 2197	1.00	11.95	11.95
21219	15451101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	15451101	182888	O-RING	2.00	1.20	2.40
21219	15451101	65-90305-76	FILTER KIT	1.00	5.40	5.40
21219	15451101	EA313	FILTER KIT	1.00	16.50	16.50
21219	15451101	EA314	FILTER KIT FCU	1.00	67.00	67.00
21219	15451101	7593446-211	FILTER	1.00	43.33	43.33
21219	15451101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	15452101	65-90305-76	FILTER KIT	1.00	5.40	5.40
21219	15452101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	15452101	182888	O-RING	2.00	1.20	2.40
21219	15452101	EA314	FILTER KIT FCU	1.00	67.00	67.00
21219	15452101	7593446-211	FILTER	1.00	43.33	43.33
21219	15452101	NAS1523-7E	WASHER PRESS SEAL	1.00	2.70	2.70
21219	15452101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	15452101	982808	MOBIL JET 254 OIL	1.00	11.70	11.70
21219	15452101	982808	MOBIL JET 254 OIL	1.00	11.70	11.70
21219	15452101	982808	MOBIL JET 254 OIL	1.00	12.49	12.49
21219	15453101	182888	O-RING	2.00	1.20	2.40
21219	15453101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	15453101	EA313	FILTER KIT	1.00	16.50	16.50
21219	15453101	EA314	FILTER KIT FCU	1.00	67.00	67.00
21219	15453101	7593446-211	FILTER	1.00	43.33	43.33
21219	15453101	AA72SA	PLUG, IGNITER	1.00	416.40	416.40
21219	17100101	RTV732-3OZWHI	MULTI-PURPOSE SEALANT WHI	1.00	2.60	2.60
21219	17300101	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	17300101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	17300101	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	17300101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	17300101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	17300101	NAS1104-18D	BOLT	1.00	2.50	2.50
21219	17400101	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	22.95	22.95
21219	17400101	4S14-4	CAM LOC	1.00	8.40	8.40
21219	17400101	4S14-12	CAM LOC	4.00	12.56	50.24
21219	17400101	4S14-6	CAM LOC	1.00	10.60	10.60
21219	17400101	4S14-16	CAM LOC	1.00	15.03	15.03
21219	17400101	4S14-6	CAM LOC	5.00	10.60	53.00
21219	17400101	4S14-6	CAM LOC	6.00	10.60	63.60
21219	17500101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	17500101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	17500101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	17500101	PS870A1-2	SEALANT 654 SEMKIT 6 OZ	1.00	36.52	36.52
21219	17500101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	17500101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	17500101	40S5-9	CAMLOC, 1/4	1.00	1.91	1.91
21219	17500101	40S5-9	CAMLOC, 1/4	10.00	1.91	19.10
21219	17600101	4S14-4	CAM LOC	4.00	8.40	33.60
21219	17600101	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	18100101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	18100101	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	200505193L	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	200505193L	00355 12 OZ	LPS-3	1.00	5.50	5.50

21219	27500101	BACN1IP3A2	NUTPLATE	2.00	17.00	34.00
21219	27500101	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	27500101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	27500101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	27600101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	27600101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	27600101	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR 25310	BACB10AE1	BEARING, ROD END	1.00	57.00	57.00
21219	NR 25314	MS20427M4-20	RIVET	1.00	65.00	65.00
21219	NR 25328	65-16227-6	KRUGER FLAP #6	1.00	3,800.00	3,800.00
21219	NR 25433	90G231	T/R ACCUM.LOW PRESS.SWITC	1.00	750.00	750.00
21219	NR 25540	BACD40B016-008-5-16	DUCT	1.00	10.00	10.00
21219	NR25302	10-60754-15	SEAL 10"	1.00	6.11	6.11
21219	NR25305	69-33329-2	ROD ASSYEMBLY	2.00	331.00	662.00
21219	NR25305	NAS6203-16D	BOLT	2.00	1.25	2.50
21219	NR25305	NAS1103-9D	BOLT	2.00	1.15	2.30
21219	NR25306	65-16200-358	STIFFENER	1.00	600.00	600.00
21219	NR25306	7075T6.100	SHEET METAL	3.00	9.88	29.64
21219	NR25306	BACR15BB10D12C	RIVET	1.00	12.00	12.00
21219	NR25306	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25306	7075T6.125	SHEET ALUM	1.00	13.89	13.89
21219	NR25306	PS870C-24	SEALANT	1.00	47.53	47.53
21219	NR25306	PETG 060X21X48	CLEAR VINYL SHEETS	1.00	22.50	22.50
21219	NR25306	PR1776M2-6OZ	SEALANT	1.00	36.77	36.77
21219	NR25306	PR1776M2-6OZ	SEALANT	1.00	36.77	36.77
21219	NR25306	HL20PB8-7	HILOCK	19.00	1.85	35.15
21219	NR25306	HL20PB8-11	HI LOCK	4.00	1.85	7.40
21219	NR25306	HL79-10	COLLAR	15.00	1.01	15.15
21219	NR25306	HL20PB8-11	HI LOCK	2.00	1.85	3.70
21219	NR25306	HL20PB10-7	PIN	1.00	2.25	2.25
21219	NR25306	HL20PB10-7	PIN	1.00	2.25	2.25
21219	NR25306	HL20PB10-10	HI LOK	8.00	4.95	39.60
21219	NR25306	HL20PB10-7	PIN	10.00	2.25	22.50
21219	NR25306	HL20PB10-9	HI LOK	4.00	3.75	15.00
21219	NR25306	HL20PB10-10	HI LOK	4.00	4.95	19.80
21219	NR25306	HL79-10	COLLAR	4.00	1.01	4.04
21219	NR25306	HL79-10	COLLAR	6.00	1.01	6.06
21219	NR25306	HL18PB8-5	HI-LOCK	2.00	1.15	2.30
21219	NR25306	HL20PB8-6	HILOCK	2.00	1.45	2.90
21219	NR25306	PR1776M2-6OZ	SEALANT	1.00	36.77	36.77
21219	NR25306	PR1776M2-6OZ	SEALANT	1.00	36.77	36.77
21219	NR25306	BACN10MK3-45	NUT PLATE	3.00	1.50	4.50
21219	NR25306	MS25281R14	CLAMP	1.00	1.04	1.04
21219	NR25306	MS25281R14	CLAMP	1.00	1.04	1.04
21219	NR25306	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25307	BACJ40K5A5A5	JUMPER	1.00	1.30	1.30
21219	NR25311	65-44303-3	SEAL	1.00	17.00	17.00
21219	NR25311	LOCTITE 608 2.8OZ	*EPOXY PATCH "CLEAR" 2.8	1.00	10.31	10.31
21219	NR25311	LOCTITE 608 2.8OZ	*EPOXY PATCH "CLEAR" 2.8	1.00	10.31	10.31
21219	NR25314	A1663-031-1	CATCH-SPRING	20.00	10.00	200.00
21219	NR25314	3D0158-473	STUD	20.00	34.00	680.00
21219	NR25315	A2711-2	ROD ASSY-HOLD OPEN	1.00	1,400.00	1,400.00
21219	NR25315	259-0129-501	ADAPTER SUPPORT	1.00	185.00	185.00
21219	NR25315	S1026614-3-007	SPACER	2.00	25.00	50.00
21219	NR25318	S65-8262-2A	ANTENNA	1.00	450.00	450.00
21219	NR25318	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25318	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25319	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25319	NAS1611-153	PACKING	1.00	1.35	1.35
21219	NR25319	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.60	9.60
21219	NR25319	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25319	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.60	9.60
21219	NR25319	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25323	579476	SEAL	1.00	9.00	9.00
21219	NR25323	AS3493-01	GASKET	1.00	5.00	5.00

21219	NR25323	AS3493-01	GASKET	1.00	5.00	5.00
21219	NR25324	400WSS25	CLAMP	1.00	18.00	18.00
21219	NR25324	MS21919DG23	CLAMP	1.00	1.10	1.10
21219	NR25325	579476	SEAL	1.00	9.00	9.00
21219	NR25325	AS3493-01	GASKET	1.00	5.00	5.00
21219	NR25325	NAS1804-6	NUT	1.00	1.83	1.83
21219	NR25328	BACB30NF6D45	BOLT	1.00	11.00	11.00
21219	NR25329	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.85	6.85
21219	NR25331	EPOXO88T10	COMPOUND (PART A-CLEAR PA	1.00	8.00	8.00
21219	NR25331	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.85	6.85
21219	NR25332	5-89357-33	WINDOW	1.00	1,500.00	1,500.00
21219	NR25333	5-89358-41	WINDOW	1.00	1,200.00	1,200.00
21219	NR25333	CS3204B-1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25333	CS3204B-1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25335	5-89358-42	WINDOW	1.00	1,900.00	1,900.00
21219	NR25335	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25335	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25337	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.23	2.23
21219	NR25340	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25340	021200-22648	>3M DP100 SCO-WELD EPXY A	1.00	10.89	10.89
21219	NR25341	2024T3.032 CUTSIZE 1X1	SHEET METAL 1X1	1.00	5.88	5.88
21219	NR25342	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25343	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25343	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25343	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25343	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25355	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25356	BACD40A08-039-5A2	DUCT	1.00	11.00	11.00
21219	NR25360	2224-6	BLADE ASSY	2.00	74.14	148.28
21219	NR25361	3-1395	TIRE & WHEEL ASSY 727 NOS	1.00	1,338.00	1,338.00
21219	NR25361	3-1395	WHEEL, NLG ASSEMBLY	1.00	1,418.60	1,418.60
21219	NR25365	305	BULB	10.00	2.26	22.60
21219	NR25366	4594	LAMP, WING SCAN LIGHT	1.00	12.00	12.00
21219	NR25368	84-10005	CONNECTOR	1.00	1,200.00	1,200.00
21219	NR25368	LPS-03116	LPS CONTACT CLEANER 2000	1.00	15.39	15.39
21219	NR25369	BAC1514-1559 2024 T3511	EXTRUSION	8.00	49.60	396.80
21219	NR25369	BAC1514-1559 2024 T3511	EXTRUSION	4.00	49.60	198.40
21219	NR25369	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	NR25369	HL18PB5-2	HI LOCK	4.00	1.25	5.00
21219	NR25372	2024T3.063 CUTSIZE 1X1	SHEETMETAL 1X1	1.00	8.48	8.48
21219	NR25372	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25373	BAC1514-1559 2024 T3511	EXTRUSION	10.00	49.60	496.00
21219	NR25373	BAC1514-1559 2024 T3511	EXTRUSION	2.00	49.60	99.20
21219	NR25373	PETG 060X21X48	CLEAR VINYL SHEETS	1.00	22.50	22.50
21219	NR25373	HL64PB8-11	HILOCK	5.00	1.76	8.80
21219	NR25373	HL62PB8-9	HI-LOCK	5.00	1.34	6.70
21219	NR25373	HL62PB8-12	HI-LOCK	8.00	1.12	8.96
21219	NR25373	HL62PB8-9	HI-LOCK	10.00	1.34	13.40
21219	NR25373	HL62PB8-9	HI-LOCK	8.00	1.34	10.72
21219	NR25373	HL63PB6-8	HI-LOK	2.00	1.10	2.20
21219	NR25373	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25373	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25373	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25375	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	22.95	22.95
21219	NR25375	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	22.95	22.95
21219	NR25375	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	22.95	22.95
21219	NR25376	TFES-5	TAPE, TEFLON	1.00	52.00	52.00
21219	NR25379	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25379	021200-22648	>3M DP100 SCO-WELD EPXY A	1.00	10.89	10.89
21219	NR25379	HL65PB6-3	HI-LOCK	11.00	1.51	16.61
21219	NR25379	HL65PB8-9	HI LOCK	4.00	4.29	17.16
21219	NR25379	HL65PB6-5	HI-LOCK	15.00	1.39	20.85
21219	NR25379	HL87-8	COLLAR	22.00	2.20	48.40
21219	NR25379	HL75-6	COLLAR	12.00	2.00	24.00
21219	NR25379	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25380	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	21.99	21.99
21219	NR25383	MOUSE MILK	OIL, LUBRICATING	1.00	5.59	5.59

21219	NR25383	S2210371-6-044	SPACER	1.00	29.00	29.00
21219	NR25383	S2210371-6-038	SPACER	1.00	26.00	26.00
21219	NR25384	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25384	BACC30BH6	COLLAR	1.00	2.20	2.20
21219	NR25384	NAS8704A5X	BOLT	2.00	55.00	110.00
21219	NR25384	NAS8706A10	BOLT	4.00	55.00	220.00
21219	NR25384	NAS8706A10	BOLT	1.00	55.00	55.00
21219	NR25384	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25384	HL65PB6-5	HI-LOCK	34.00	1.39	47.26
21219	NR25384	HL21PB5-3	HILOCK	8.00	1.25	10.00
21219	NR25384	HL21PB5-5	HILOCK	15.00	1.40	21.00
21219	NR25384	BACC30BH5	COLLAR	38.00	2.95	112.10
21219	NR25384	HL65PB6-3	HI-LOCK	11.00	1.51	16.61
21219	NR25384	HL65PB6-4	HILOCK	34.00	1.26	42.84
21219	NR25384	HL65PB8-5	HILOCK	8.00	1.54	12.32
21219	NR25384	HL65PB8-6	HI LOCK	10.00	1.70	17.00
21219	NR25384	NAS8706A10	BOLT	4.00	55.00	220.00
21219	NR25384	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	21.99	21.99
21219	NR25384	NAS8705A7	BOLT	1.00	30.00	30.00
21219	NR25384	HL63PB6-8	HI-LOK	7.00	1.10	7.70
21219	NR25384	4R51-1	CAM LOCK	8.00	17.09	136.72
21219	NR25384	4R51-1	CAM LOCK	6.00	17.09	102.54
21219	NR25384	4R41-1	CAM LOC	15.00	25.18	377.70
21219	NR25384	HL21PB6-8	PIN	8.00	1.05	8.40
21219	NR25384	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.85	6.85
21219	NR25385	RTV106RED	*3 OZ HEAT RESIST SEAL RE	1.00	21.99	21.99
21219	NR25392	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25394	122157T030	TAPE, INSULATION BLANKET	1.00	145.93	145.93
21219	NR25395	T25T-L	SPIRAL WRAPPING 50FT	1.00	7.24	7.24
21219	NR25396	T25T-L	SPIRAL WRAPPING 50FT	1.00	7.24	7.24
21219	NR25399	HL18PB6-12	HI LOCK	14.00	1.10	15.40
21219	NR25399	HL18PB6-12	HI LOCK	1.00	1.10	1.10
21219	NR25405	65-21749-5A	BULLNOSE, #1 K-FLAP	1.00	2,100.00	2,100.00
21219	NR25408	HL18PB6-12	HI LOCK	2.00	1.10	2.20
21219	NR25408	HL18PB6-12	HI LOCK	1.00	1.10	1.10
21219	NR25409	HL18PB6-12	HI LOCK	3.00	1.10	3.30
21219	NR25409	NAS6204-16	BOLT	2.00	1.20	2.40
21219	NR25411	69-17918-2	LUG ASSY	1.00	35.00	35.00
21219	NR25411	65-21750-5	BULLNOSE	1.00	4,200.00	4,200.00
21219	NR25413	HL18PB6-12	HI LOCK	2.00	1.10	2.20
21219	NR25413	HL18PB6-12	HI LOCK	1.00	1.10	1.10
21219	NR25416	BACB30LM3D8	BOLT	1.00	1.60	1.60
21219	NR25421	HL19PB5-3	PIN	5.00	1.75	8.75
21219	NR25423	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25424	7075T6.032 CUTSIZE 1X1	SHEET METAL 1X1	1.00	5.67	5.67
21219	NR25433	90G231	T/R ACCUM.LOW PRESS.SWITC	1.00	70.00	70.00
21219	NR25434	LPS-03116	LPS CONTACT CLEANER 2000	1.00	15.39	15.39
21219	NR25437	66-16691-502	SPRING	3.00	4.00	12.00
21219	NR25439	66-15460-1	>SEAL	1.00	7.20	7.20
21219	NR25440	MS21916-10-8	FITTING	1.00	21.00	21.00
21219	NR25440	301.1/2.HD.063	SHEET, STAINLESS STEEL	1.00	12.80	12.80
21219	NR25440	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25441	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25441	.032 301 1/2HD	STAINLESS STEEL SHEET	1.00	10.07	10.07
21219	NR25441	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25449	HL62PB8-9	HI-LOCK	1.00	1.34	1.34
21219	NR25449	HL62PB8-6	HI-LOCK	2.00	1.25	2.50
21219	NR25449	PRI422B1/2	SEALANT	1.00	27.68	27.68
21219	NR25449	HL79-10	COLLAR	1.00	1.01	1.01
21219	NR25449	HL62PB10-10	HI-LOCK	1.00	1.16	1.16
21219	NR25449	7075T6.050 CUTSIZE 1X1	SHEET METAL 1X1	1.00	8.24	8.24
21219	NR25449	7075T6.063 CUTSIZE 1X1	SHEET METAL 1X1	1.00	8.39	8.39
21219	NR25449	7075T6.050 CUTSIZE 1X1	SHEET METAL 1X1	1.00	8.24	8.24
21219	NR25449	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25455	BACM10T50-16BD	PLACARD	1.00	15.00	15.00
21219	NR25456	1587MSB	PLACARD	1.00	8.20	8.20

21219	NR25458	AN806-6D	ALUMINUM PLUG	4.00	1.06	4.24
21219	NR25458	AN929-6	CAP	4.00	1.24	4.96
21219	NR25460	ST7R	TRANSMITTER BRAKE	1.00	600.00	600.00
21219	NR25464	10-60754-15	SEAL 10"	1.00	6.11	6.11
21219	NR25470	10-60754-58	SEAL	3.00	11.96	35.88
21219	NR25470	RTV732-3OZWHI	MULTI-PURPOSE SEALANT WHI	1.00	2.60	2.60
21219	NR25472	10-60754-22	SEAL	1.00	8.28	8.28
21219	NR25482	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25482	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25482	2024T3.063 CUTSIZE 2X1	SHEET METAL 2X1	1.00	15.44	15.44
21219	NR25482	2024T3.071-4X4	ALUMINUM, METAL SHEET *SE	1.00	128.80	128.80
21219	NR25482	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25483	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25483	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25483	23014 KIT 6 OZ	STRIPPER KIT 6 OZ	1.00	2.15	2.15
21219	NR25483	2024T3.063	SHEET METAL	5.00	7.40	37.00
21219	NR25483	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25483	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25486	398FRP	TAPE WH 398FRP 3IN-36IN 1	1.00	33.55	33.55
21219	NR25486	XW21181-15	MOTOR, WIPER	1.00	900.00	900.00
21219	NR25486	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.85	6.85
21219	NR25490	BAC27DLG14	PLACARD	2.00	4.20	8.40
21219	NR25493	4775MRS	PLACARD	1.00	11.35	11.35
21219	NR25494	BACM10S3AAN	PLACARD	1.00	3.50	3.50
21219	NR25499	BACJ40K5A7A6	JUMPER	1.00	1.30	1.30
21219	NR25499	BACJ40K5A7A7	JUMPER	1.00	1.50	1.50
21219	NR25502	PS890B1/2-6OZ	SEALANT	1.00	24.16	24.16
21219	NR25512	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	NR25513	H197-1	CLIP	1.00	50.00	50.00
21219	NR25513	BACR15BB5D20C	RIVET (PER POUND)	1.00	36.00	36.00
21219	NR25513	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.85	6.85
21219	NR25516	2346MSB	PLACARD	1.00	15.74	15.74
21219	NR25516	2346MSB	PLACARD	1.00	15.74	15.74
21219	NR25516	4S14-4	CAM LOC	3.00	8.40	25.20
21219	NR25516	4S14-4	CAM LOC	5.00	8.40	42.00
21219	NR25518	400WSS4	CLAMP	2.00	2.70	5.40
21219	NR25518	400WSS4	CLAMP	1.00	2.70	2.70
21219	NR25522	PM54-23004 7075 T6511	EXTRUSION	6.00	99.81	598.86
21219	NR25522	HL62PB8-5	HI-LOCK	40.00	1.01	40.40
21219	NR25522	HL62PB8-6	HI-LOCK	10.00	1.25	12.50
21219	NR25522	HL62PB8-7	HI LOCK	30.00	1.25	37.50
21219	NR25522	BACB30FP8A10	HI-LOCK	10.00	4.00	40.00
21219	NR25522	PETG 060X21X48	CLEAR VINYL SHEETS	1.00	22.50	22.50
21219	NR25522	BAC1490-2685 7075T73	ANGLE	6.00	49.91	299.46
21219	NR25522	7075T6.071 CUTSIZE 1X1	SHEET METAL 1X1	1.00	10.11	10.11
21219	NR25522	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25522	HL63PB6-13	HI-LOCK	20.00	2.00	40.00
21219	NR25522	BACB30NW6K13X	HI-LOK	5.00	2.00	10.00
21219	NR25522	HL62PB8-9	HI-LOCK	2.00	1.34	2.68
21219	NR25522	HL62PB8-7	HI LOCK	8.00	1.25	10.00
21219	NR25522	7075T6.080	SHEET METAL	1.00	9.53	9.53
21219	NR25522	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25522	4R51-1	CAM LOCK	4.00	17.09	68.36
21219	NR25522	4R41-1	CAM LOC	4.00	25.18	100.72
21219	NR25522	HL62PB6-8	HI-LOCK	2.00	1.25	2.50
21219	NR25522	HL62PB6-12	HI LOCK	2.00	2.16	4.32
21219	NR25522	HL218-6-16	HI LOCK	1.00	2.25	2.25
21219	NR25522	HL18PB6-16	HI LOCK	1.00	3.65	3.65
21219	NR25522	HL20PB6-10	PIN	2.00	1.20	2.40
21219	NR25522	HL18PB6-12	HI LOCK	2.00	1.10	2.20
21219	NR25522	HL62PB6-8	HI-LOCK	1.00	1.25	1.25
21219	NR25522	HL62PB6-5	HI LOCK	1.00	1.15	1.15
21219	NR25522	4R41-1	CAM LOC	1.00	25.18	25.18
21219	NR25522	4R41-1	CAM LOC	1.00	25.18	25.18
21219	NR25522	HL62PB6-4	HI LOCK	1.00	1.05	1.05
21219	NR25522	HL62PB6-5	HI LOCK	1.00	1.15	1.15

21219	NR25523	BAC1505-29222 7075-T6511	EXTRUSION	2.00	18.73	37.46
21219	NR25523	MS20426D3-14	RIVET	1.00	40.00	40.00
21219	NR25523	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25523	BAC1490-2734 7075-T6	ANGLE	1.00	19.41	19.41
21219	NR25523	HL62PB6-8	HI-LOCK	8.00	1.25	10.00
21219	NR25523	HL62PB6-5	HI LOCK	3.00	1.15	3.45
21219	NR25523	HL64PB8-11	HILOCK	9.00	1.76	15.84
21219	NR25523	HL62PB6-5	HI LOCK	2.00	1.15	2.30
21219	NR25523	HL62PB6-7	HI-LOCK	4.00	1.05	4.20
21219	NR25523	HL18PB8-10	HI-LOCK	2.00	1.35	2.70
21219	NR25523	HL18PB8-11	HI-LOCK	2.00	1.45	2.90
21219	NR25523	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25523	4R41-1	CAM LOC	10.00	25.18	251.80
21219	NR25523	NAS1097AD8-14	RIVET	1.00	18.00	18.00
21219	NR25523	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.85	6.85
21219	NR25523	HL18PB5-2	HI LOCK	3.00	1.25	3.75
21219	NR25526	BAC1530-5	SEAL	4.00	14.23	56.92
21219	NR25526	10-60754-32	SEAL	4.00	8.15	32.60
21219	NR25528	BACJ40A21-6	JUMPER	1.00	1.20	1.20
21219	NR25528	EPOXO88T10	COMPOUND (PART A-CLEAR PA	1.00	8.00	8.00
21219	NR25529	400WSS4	CLAMP	5.00	2.70	13.50
21219	NR25529	400WSS7	CLAMP	1.00	3.40	3.40
21219	NR25535	MS25083-2BB6	JUMPER	1.00	1.25	1.25
21219	NR25536	10-60754-20	SEAL	1.00	7.61	7.61
21219	NR25538	400WSS7	CLAMP	1.00	3.40	3.40
21219	NR25539	1050-800-375-10	RESPONDER UNIT-SENSOR	1.00	3,200.00	3,200.00
21219	NR25546	CS3204B-1/2.T	SEALANT, PRC (6OZ TUBE)	1.00	9.75	9.75
21219	NR25547	4S14-4	CAM LOC	1.00	8.40	8.40
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T2.5OZ	SEALANT, PRC (2.5OZ TUBE)	1.00	6.50	6.50
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.60	9.60
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B2-T-6OZ	SEALANT, PRC (6OZ TUBE)	1.00	9.65	9.65
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25547	WS8020B1/2-T	SEALANT, PRC (6OZ TUBE)	1.00	10.15	10.15
21219	NR25552	PS870B1-2-6OZ	SEALANT	1.00	32.78	32.78
21219	NR25552	10-60754-15	SEAL 10"	2.00	6.11	12.22
21219	NR25553	65-25643-5	SEAL	1.00	203.00	203.00
21219	NR25553	65-25643-7	SEAL	1.00	120.00	120.00
21219	NR25553	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	NR25553	65C17544-3	SEAL	1.00	150.00	150.00
21219	NR25553	10-60754-11	SEAL	1.00	14.40	14.40
21219	NR25556	20240.032 CUTSIZE 2X1	SHEET METAL 2X1	1.00	12.40	12.40
21219	NR25556	BACB30LU4-36	SCREW	2.00	1.40	2.80

21219	NR25556	70750.040 CUTSIZE 2X1	SHEET METAL 2X1	1.00	13.88	13.88
21219	NR25556	HL62PB6-4	HI LOCK	4.00	1.05	4.20
21219	NR25556	HL62PB6-4	HI LOCK	4.00	1.05	4.20
21219	NR25558	2024O.040	METAL SHEET	2.00	6.70	13.40
21219	NR25558	70750.040 CUTSIZE 2X1	SHEET METAL 2X1	1.00	13.88	13.88
21219	NR25559	WS8020B2-T2.5OZ	SEALANT, PRC TUBE 2.5 OZ	1.00	6.50	6.50
21219	NR25559	HL18PB5-2	HI LOCK	4.00	1.25	5.00
21219	NR25559	HL62PB6-2	HILOCK	8.00	1.10	8.80
21219	NR25559	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	NR25560	NAS1104-32D	BOLT	1.00	1.20	1.20
21219	NR25560	70750.040 CUTSIZE 2X1	SHEET METAL 2X1	1.00	13.88	13.88
21219	NR25560	00355 12 OZ	LPS-3	1.00	5.50	5.50
21219	NR25566	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	NR25569	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	90.57	90.57
21219	NR25569	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	NR25569	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	NR25569	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	NR25569	LD-4GL	SKYDROL OIL 1 GALLON CAN	1.00	89.61	89.61
21219	NR25572	69-17109-1	DUCT ASSY	1.00	300.00	300.00
21219	NR25575	MS21250-05008	BOLT	51.00	4.00	204.00
21219	NR25577	M24000108-0191	HOSE ASSY	1.00	245.00	245.00
21219	NR25577	M24000106-0191	HOSE ASSY	1.00	230.00	230.00
21219	NR25577	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	67.86	67.86
21219	NR25577	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	74.58	74.58
21219	NR25577	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	74.53	74.53
21219	NR25577	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	74.53	74.53
21219	NR25577	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	67.86	67.86
21219	NR25580	40174	SWITCH, FLAP	1.00	250.00	250.00
21219	NR25586	700-D36413-009	ATC CONTROL HEAD	1.00	500.00	500.00
21219	NR25587	M83248-1-269	O-RING	1.00	2.00	2.00
21219	NR25592	259-1151-501	BRACKET	1.00	95.00	95.00
21219	NR25594	BACT16BN060606P	TEE	1.00	58.00	58.00
21219	NR25595	ST7R	TRANSMITTER ASSY	1.00	1,850.40	1,850.40
21219	NR25595	98BB38	EXXON HYJET IV-A PLUS AVI	1.00	74.58	74.58
21219	NR25598	BAC27DLG14	PLACARD	2.00	4.20	8.40

21219

69,268.71

Grand Total:

69,268.71

FLIGHTSTAR AIRCRAFT SERVICES, INC.
OUTSIDE SERVICES
 N908JE/ 21219

VENDOR	PO#	DESCRIPTION		AMOUNT	\$ 10,001.78	INVOICE #
JACKSONVILLE JETPORT	2121993	REFUEL	\$	13.20		12-014403
JACKSONVILLE JETPORT	2121995	FUEL	\$	1,148.61		12-014404
JACKSONVILLE JETPORT	2121994	REFUEL	\$	586.80		12-014405
JACKSONVILLE JETPORT	21219102	FUEL	\$	8,253.17		12-014465
			\$	10,001.78		

FLIGHTSTAR AIRCRAFT SERVICES, INC.
FREIGHT CHARGES
21219

CARRIER	DATE BILLED	PO#	INVOICE #	TRACKING #	AMOUNT
UPS	12/14/11	212192	46AF36511	1Z0887850297611393	10.60
FEDEX	12/15/12	212194	7-731-73569	474876145512	58.13
FEDEX	12/21/12	2121910	7-739-50328	474876181576	17.74
FEDEX	12/15/12	212193	7-739-50328	797847278943	24.19
FEDEX	12/16/12	212195	7-739-50328	793021878508	21.24
FEDEX	12/22/12	212199	7-739-50328	793046563750	29.23
FEDEX	12/21/12	2121911	7-739-50328	496419608758	17.74
FEDEX	12/21/12	2121912	7-739-50328	413219998741	18.50
AAA COOPER	12/28/11	2121920	74697652	74697652	76.82
FEDEX	12/28/11	21219	7-746-25288	514333791427	204.61
FEDEX	12/28/11	21219	7-746-25288	514333791438	177.16
FEDEX	12/22/12	212199	7-746-25288	797879261987	40.53
FEDEX	12/23/12	212198	7-746-25288	898940716648	132.99
FEDEX	12/23/12	212198	7-746-25288	898940716637	132.99
FEDEX	12/30/12	21219	7-746-25288	460103599810	564.08
UPS SUPPLY	12/25/12	2121947	2378118180	5450018937	173.66
FEDEX	12/28/2011	2121915	7-752-60868	438636153190	11.58
FEDEX	1/3/2012	2121916	7-752-60868	515687316609	84.87
FEDEX	12/28/2011	2121921	7-752-60868	797894049307	18.50
FEDEX	12/29/2011	2121922	7-752-60868	793065578715	32.79
FEDEX	1/3/2012	2121926	7-752-60868	5114089394690	20.42
FEDEX	1/10/2012	2121929	7-760-08220	797928789985	11.39
FEDEX	1/9/2012	2121930	7-760-08220	438636177727	119.15
FEDEX	1/10/2012	2121931	7-760-08220	512789279217	12.33
FEDEX	1/10/2012	2121932	7-760-08220	508773755601	179.28
FEDEX	1/10/2012	2121933	7-760-08220	504716956303	16.80
FEDEX	1/10/2012	2121936	7-760-08220	874812278149	16.61
FEDEX	1/12/2012	2121939	7-760-08220	793109289187	42.99
FEDEX	1/10/2012	21219	7-760-08220	460103600141	31.22
FEDEX	1/12/2012	21219	7-760-08220	460103600244	48.33
FEDEX	1/16/2012	2121917	7-767-55319	898923517819	324.54
FEDEX	1/16/2012	2121919	7-767-55319	898923517820	324.54
FEDEX	1/16/2012	2121920	7-767-55319	514333791850	40.42
FEDEX	1/16/2012	2121943	7-767-55319	474876323248	13.13
FEDEX	1/19/2012	2121948	7-767-55319	488270699312	35.62
AAA COOPER	2/8/2012	2121971	75564631	75564631	77.42
FEDEX	1/19/2012	2121945	7-774-92453	950677779227	70.68
FEDEX	1/23/2012	2121950	7-774-92453	457810974385	65.14
FEDEX	1/23/2012	2121952	7-774-92453	797975204613	68.27
FEDEX	1/23/2012	2121953	7-774-92453	471187875145	38.51
FEDEX	1/23/2012	2121954	7-774-92453	468517623986	11.14
FEDEX	1/23/2012	2121955	7-774-92453	797976093785	10.71
FEDEX	1/23/2012	2121956	7-774-92453	793144467570	10.88
FEDEX	1/23/2012	2121957	7-774-92453	793146640104	30.60
FEDEX	1/24/2012	2121958	7-774-92453	793151333651	47.91
FEDEX	1/24/2012	2121959	7-774-92453	413220004894	47.91
FEDEX	1/24/2012	2121960	7-774-92453	438506391981	11.14
FEDEX	1/20/2012	21219	7-774-92453	514333792099	84.81
FEDEX	1/20/2012	21219	7-774-92453	514333792103	84.81
AAA COOPER	2/1/2012	2121971	71712847	71712847	19.35
AAA COOPER	2/1/2012	21219	71712847	71712847	19.35
AAA COOPER	2/1/2012	21219	71712847	71712847	19.35
AAA COOPER	2/1/2012	2121971	71712847	71712847	19.37
PILOT	1/16/2012	2121942	057249555	040998	151.04
FEDEX	1/26/2012	2121961	7-782-22366	479356624411	178.20
FEDEX	1/27/2012	2121961	7-782-22366	471187876678	19.53
FEDEX	1/27/2012	2121964	7-782-22366	518357838822	21.27
FEDEX	1/27/2012	2121965	7-782-22366	438506392094	30.20
FEDEX	1/30/2012	2121966	7-782-22366	793172991854	47.91
FEDEX	1/31/2012	2121967	7-782-22366	798004539810	21.22
FEDEX	1/31/2012	2121968	7-782-22366	798004609810	39.40
FEDEX	1/31/2012	2121970	7-782-22366	798006677482	47.91

FEDEX	2/6/2012	2121925	7-789-97509	902275330377	254.86
FEDEX	2/7/2012	2121925	7-789-97509	902275330366	254.84
FEDEX	2/7/2012	2121925	7-789-97509	902275330355	254.84
FEDEX	2/7/2012	2121940	7-789-97509	798032353705	52.15
FEDEX	2/9/2012	2121972	7-789-97509	472931410234	68.16
FEDEX	2/3/2012	2121974	7-789-97509	793188674017	29.10
FEDEX	2/6/2012	2121979	7-789-97509	455514684625	31.97
FEDEX	2/7/2012	2121982	7-789-97509	519302254487	22.89
FEDEX	2/10/2012	2121984	7-789-97509	483063029940	56.04
FEDEX	2/10/2012	2121983	7-789-97509	798048305025	37.97
UPS	2/2/2012	21219	46AF36052	1Z46AF360148891095	24.67
					5,466.24